
Osnovi digitalne elektronike – Odsek SI  Oktobar 2017. 

 

 

REŠENJA ZADATAKA 
 
2. a) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
b) ps7503 =⋅⋅= CrdsPMOSpuτ  

ps3003 =⋅⋅= CrdsNMOSprτ  

 
 
 
4.  

za 10 Tt << : 

t
B etv 2000V5,7)( −⋅=  

 

za 211 TTtT +<< : 

)(2000 1V5,7V5)( Tt
B etv −−⋅−=  

 
µs3,5491 =T  
µs3,5492 =T  

 
 
 
 
 
 
 
 
 
6. a) Prekidač je zatvoren za 0=iQ , a otvoren za 1=iQ . 

b) kΩ10=DR
  

kΩ900 =R
 

kΩ401 =R
 

kΩ152 =R
 

kΩ5,23 =R  

c) kΩ5,12=boR
  

V5,3=MAXV
 

V4−=MINV  
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